BUSINESS/S
SNOWDAY PACKET
MR. DAVE ARMENTROUT

COMPLETE ONLY ONE (1) OF THE FOLLOWING ASSIGNMENTS
FOR EACH DAY WE ARE OFF FOR A SNOW DAY IN WHICH IT IS
STATED “SNOWDAY PACKET” PLEASE BRING THE PACKET
BACK WITH YOU ON THE FIRST DAY THAT WE RETURN BACK
TO SCHOOL. IF YOU HAVE ANY QUESTIONS PLEASE CONTACT

THE SCHOOL.



Name D_ate

Directions Complete the following problems.

A. Write the numeral and the position the underlined digits represent.

1. 645 | L 2. 42,349
3. 27.02 | 4. 67,256.1
5. 2,765,437 , 6. 95549
7. 8 [ 8. 2425
9. 448.394 10. 232265
1. 567 | 12. 1,00Z1
13. 1.97951 , ' 14, 7350
15. 300511 16. 0.438
17. 0.00059 L 18. 643,95
19. 7,811 20, 1.62

B. Write numerals for the followi'ng word forms.

21. One hundred thirty

22. Ninety-five thousand two hundred twenty
23, ‘Seventy-three and sixty-five hundredths

24, Six million three thousand twenty-one

25. Fi§é thousand six hundred and thirty-four thousandths

26: Tfmze hundred eleven

27. One thousand two

28. Nine hundred six ' o

29. Four billion

30. TWenty-six hundredths

31. Tl'u'ée billion, thirty-four millioﬁ, six thousand forty
-32. Fifty-one and six thousandths

33, One hundred lnine and four tenths

34. Seven thousand, four hundred, sixty-two and three hundredths

T

Five hundred and eighteen hundredths




21. 3,226
231

50

+ 1,257

25, 33423
37

1,445

+ 25,256

29, 7744
"29
36.97

+ 85.31

33. $27.50
1595
1.99
+83.11

37. $270.33
98.350
452.66

+ 28.75

Complété the following problems by adding horizontally, Write your answers, k

D. Cbmplete the following problems.

22.

26.

30,

34.

38.

45,112
3,785
221

+ 9,353

98.000
7455
0.290

+14.230

9.99

5.32

0.355
+ 6.999

$1.98
- 3.01
7.55
+ 5.05

$1,887.50
22811
5.50

+3,32257

23, 70,001
3,223

75

+ 15,280

27. 0455
0.23

1.096

+0.905

31,  7.222
0.579
0.166

+1.02

35, $98.88
7.27

90.10
+27.01

39, $27,994.22

3,097.45
329.90
+ 98,203.97

showing maximum decimals, in the blanks provided.

41. 7,320 +5921 =
42, 33450+9.78 =

43, 131 + 439 + 874 =

44, 3.95+495 +3.25+6.15=

46. 19.16 +0.99 + 1.66 =
47, 8,695,030 + 46,788 =

48. 312.35 + 345.09 + 0.22 =

49, 169 +25 +.198 + 37 =
6.4+375+92+12=

50.

24, 398
4,567

197

+ 8,199

. 28, 1223

- (.6
0.9855
+2.0505

32, 49123
0.288
0.76
+ 7.987

36, $0.50
35.35
483
+19.90

40, 3,007
15,097

2493
+ 45
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How much was -
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Name ) Date

Directions Solve the following problems. Write your answers in the blanks provlded Place commas and dollar signs in
answers where approptiate.

A. Multip'ly the following whole numbers.

233 x793= - 1,208 x 333 =
45 x 106 = ‘ 132 x 855 =
92 x 82 = | ! 2,521 x 1459 =
,$998 x 21 = 987 x 19,151 =
8,201 x 653 = 10, $1,448 x 188 =
1,995 x 249 = 144x14d =
13, 12,557 x 77 = | ' 57x897=
15. 2,855 x 98 = 16. 1992 x 123 =
17. 46x144= 1,899 x 82 =
19, 566 x38= : | 521 x 476 =

21, 1,958 24, 397
x 46 _ ! X 26

‘Multiply the following decimals. Show maximum decimals.

2. 03952 27, 769 28. 1.111 20, $86.92 30,  $1237
x 0.4834 x482" 13 005 T % 0.0008

Multiply the following decimals and money amounts. Round your
answers to the nearest cent,

31, $2.46x 2.7 = 32 $1.76x821 =
3. $198x15= | 34, $8.54x122=
$109.98 x 2.91 = - %6 $229x24=
$5.06 x 1.06 = | 38. $0.21 x 047 =
$4.50 x 892 = , $45.75x 195 =
$3.75x468= .+ . $0.02 x 3214 =




)

D. Multiply the following numbers containing zeros.

43. 3,009 x50 = ' 44, $5,090 x 75 =
45. 1,800x206= . 46 20,000x10=
47. $400 x 202 = 48 B.00B007=
49. $1,708 x 105 = 50. 6,005 x 9.007 =
1,040 % 20 = | 52. $27 x 304 =
701 x 22 = | 54, $104.05x 101 =

Find the following accumulations of products. For money amounts,
round to the nearest cent.

55. 31x54= 56. 187 x015=
 Tx67= . 543x301=
90 x 28 = 0.32 % 2.95 =
Total = . - | Tbtal =
57. 5059 18 = §25.40 % 12.98 =
$0.29 x 68 = : . $98.99x3150 =
§0.99 x 72 = - $17.49 x 25.88 =
Total = ' | Total =

Solve the following word problems.

59, Madison Furniture Company ordered 4 sofa sleepers at $599 each, 3 love
seats at $199 each, and 3 ottomans at $79 each. What was the total purchase
price of all the furniture ordered?

Meredith worked part-time sacking groceries and checking at the cash
register for a local food store. When she sacked groceries, she was

paid $7.25 per hour. When she checked, she was paid $8.50 per hout.
Monday she checked and worked 8 hours, Tuesday she sacked and worked
4 hours, Wednesday she did not work, Thyrsday she checked and worked
8 hours, and Friday and Saturday she sacl_céd and worked 8 hours each day.
What were Meredith’s total wages earned before taxes for the week?

Jesse Morton sold 3 cars he had restored to like-new condition. He received
$18,000 each for the cars. What was the total price he received for the 3 cars?

An accident occurred causing damage to 2 cars. Each owner took his car to
Carlos’ Repair Shop for estimates, Carlos estimated each car needed a new
fender at $1,990, a new bumper at $850, and a new headlight assembly at
$250. What was the total estimate for 1 car? for 2 cars? .




